

Prophylactic Theophylline Reduces Birth Asphyxia Related Renal Injury in Term Neonates

Salma Aziz¹, Syeda Mamoonah Qudrat², Tanzeela Rani³, Qurat-Ul-Ain Cughtai⁴, Misbah Aziz⁵,
Rai Muhammad Asghar⁶

^{1,2,3,4} Senior Registrar Paediatrics,
Benazir Bhutto Hospital, Rawalpindi.
⁵ M.Phil, Quaid-e-Azam University

⁶ Professor of Paediatrics, Rawalpindi Medical
University, Rawalpindi.

Author's Contribution

¹ Conception of study

¹ Experimentation/Study conduction

^{3,4} Analysis/Interpretation/Discussion

² Manuscript Writing

⁵ Critical Review

⁶ Facilitation and Material analysis

Corresponding Author

Dr. Salma Aziz,

Senior Registrar Paediatrics,

Benazir Bhutto Hospital,

Rawalpindi

Email: salmaaziz23@gmail.com

Article Processing

Received: 01/10/2020

Accepted: 21/09/2022

Cite this Article: Salma Aziz, Syeda Mamoonah Qudrat, Tanzeela Rani, Misbah Aziz, Quratulain Chughtai, Rai Mohammad Asghar. Prophylactic Theophylline reduces birth asphyxia related renal injury in term neonates. <https://www.journalrmmc.com/index.php/JRMC/article/view/1475>
DOI: <https://doi.org/10.37939/jrmmc.v26i4.1475>

Conflict of Interest: Nil

Funding Source: Nil

Abstract

Introduction: Birth Asphyxia (Perinatal Asphyxia) in newborn is a condition caused by the inadequate supply of oxygen before, during, or just after birth. Kidney is the most damaged organ in asphyxiated full-term infants. Theophylline is considered to be effective as adenosine antagonist in reducing renal injury related to birth asphyxia

Objective: To determine mean serum creatinine and glomerular filtration rate in term neonates with perinatal asphyxia after prophylactic dose of theophylline as compared with that of control.

Materials and Methods: In this randomized controlled trial, a total of 60 neonates fulfilling inclusion criteria were included in study either born in the obstetric unit of the study centre (BBH) or referred from other local hospitals. After taking written informed consent, all neonates were randomized into either A (Theophylline group) or B (Placebo group). Theophylline group received single dose of intravenous aminophylline (5 mg/kg, 0.25 ml/kg) while 0.25 ml/kg of normal saline was administered to placebo group over five-minute period within the first hour of presentation. Each patient was evaluated using the predesigned proforma. The 24-hour fluid intake and the urine output were recorded during the first 5 days of life. To assess the infant's renal function, their serum creatinine, creatinine clearance (GFR) was determined on days one, three and five and compared between both groups.

Results: The mean age cases in Theophylline group was 10.73 ± 8.11 hours and in control group the mean age of cases was 14.33 ± 7.52 hours. In Theophylline group there were 17(56.67%) male and 13(43.33%) female cases while in control group there were 17(56.67%) male and 13(43.33%) female cases. The mean creatinine level in Theophylline group was 0.78 ± 0.29 and in control group was 1.15 ± 0.51 with statistically lower mean level in Theophylline group, p-value < 0.05. The mean Glomerular filtration rate in Theophylline group was 31.59 ± 6.35 and in control group was 21.17 ± 7.38 with statistically higher mean Glomerular filtration rate in Theophylline group, p-value < 0.05.

Conclusion: Through the findings of this study, the therapeutic efficacy of theophylline is confirmed in terms of maintaining serum creatinine and glomerular filtration rate. So, in future renal function can be protected by introducing theophylline and by maintaining renal function we can reduce risk of mortality.

Keywords: Birth Asphyxia, Sarnat Grading System, Theophylline, Mean Glomerular Filtration Rate.

Introduction

Hypoxic ischemic encephalopathy (HIE) is a serious birth complication affecting full term infants; 40–60% of affected infants die by 2 years of age or have severe disabilities.(1) Globally, hypoxia of newborn infants is estimated to account for approximately 23% of the 4 million neonatal deaths and 26% of the 3.2 million stillbirths each year (2) . Acute kidney injury (AKI) is defined as rapid loss in kidney function (hours to days), resulting in derangements in fluid balance, electrolytes and waste products. Perinatal asphyxia can result in multiorgan dysfunction due to redistribution of cardiac output. Perfusion to more vital organs such as the heart, brain and adrenals is maintained at the expense of the kidneys, gut and skin. As a consequence, kidney is one of the frequently injured organs in neonates who suffered severe birth asphyxia (3). Acute kidney injury (AKI) is a common consequence of perinatal asphyxia, occurring in up to 56% of these infants(4).Renal insufficiency is more frequent within 24 hours of a hypoxic ischemic episode (5)leading to irreversible cortical necrosis when prolonged(5,6) and permanent renal damage in 40% of survivors (7). Following hypoxia in the cerebral organ, anaerobic glycolysis provides lactic acidosis, adenosine tri phosphate hydrolysis resulting in increased levels of adenosine. Pre- and post glomerular vasoconstriction due to adenosine metabolites leads to a fall in glomerular filtration rate (GFR). This might be inhibited by the nonspecific adenosine receptor antagonist, theophylline. (8,9,10,12,13)

Several trials have been conducted across the globe to improve kidney dysfunction in asphyxic neonates. Alok Raina et al. showed that neonates in the theophylline group had lower serum creatinine levels (0.83 ± 0.35 versus 1.47 ± 0.61 ; $p = 0.00$) and higher endogenous creatinine clearance or GFR (32.16 ± 16.34 versus 17.73 ± 7.92 ; $p = 0.00$) than the placebo group. (2)

A study by David Askenazi showed that treating perinatal asphyxia with theophylline at birth helps to reduce the severity of renal dysfunction in term neonates (12). Furthermore, Kidney Disease Improving Global Outcomes 2012 (KDIGO) guidelines suggest that a single dose of theophylline may be given in neonates with severe perinatal asphyxia, who are at high risk of AKI (14)

The rationale for this study is to evaluate renal function in term neonates with birth asphyxia after

prophylactic dose of theophylline. Perinatal asphyxia is common in our settings and renal dysfunction is mostly managed by restricted fluid administration but no remedy is currently available to prevent renal dysfunction in asphyxic newborns. This can improve our management of newborns with birth asphyxia in future.

Materials and Methods

This study was conducted in neonatal intensive care unit (NICU) of Pediatric Department of Benazir Bhutto Hospital Rawalpindi. Duration of study was 6 Months from 5th September, 2018 to 5th March, 2019. It was a randomized control trial. For sample size. Level of significance=5, Power of test= 90%, Population standard deviation=48, Population variance=0.2304, Test value of population mean= 0.83, Anticipated population mean=1.47 (2.) Since minimum sample size is 30, sample size was 30 in both groups. Patients (n=60) were selected with non-probability consecutive sampling technique

Inclusion Criteria was all term neonates (Infants born after 37 0/7 to 41 6/7 weeks after first day of mother's last menstrual period.) either male or female with birth weight more than 2500g having birth asphyxia(a neonate with an Apgar score of up to three at 1 minute or up to five at 5 minutes after birth or severe acidosis (pH <6.7 with base deficit of >25 mmol/L or need for positive pressure ventilation at birth, seizures or severe hypotonia on clinical examination, Sarnat staging 2 and 3(provided in annexure). Exclusion criteria was Preterm , Small for gestation or low birth weight babies ; Neonates with congenital anomalies (cardiac or skeletal on clinical examination) ; neonates with maternal history of drugs known to cause foetal depression e.g. cocaine ; neonates requiring mechanical mode of ventilation ;Neonates with sepsis (positive blood culture, reluctance to feed, platelets <50,000.Neonates with birth asphyxia sarnat stage 1.(provided in annexure)

After taking written informed consent from a parent or guardian, selected neonates were randomized into either A (Theophylline group) or B (Placebo group). This randomization was performed by a person not directly related to the study. Theophylline group received single dose of intravenous aminophylline (5 mg/kg, 0.25 ml/kg) while 0.25 ml/kg of normal saline was administered to placebo group over a five-minute period within the first hour of presentation. Both the treatment and placebo preparations were provided in syringes with the same external appearance and

administered to the subjects in the study and placebo groups accordingly. All neonates with clinical features of hypoxic ischaemic encephalopathy were staged by the Sarnat grading system. Each patient was evaluated using the predesigned proforma. To assess the infant's renal function, their serum creatinine, creatinine clearance (GFR) was determined on days one, three and five and compared between both groups.

Data was entered and analysed by SPSS version 20. Descriptive statistics were used for qualitative and quantitative variables. Mean and standard deviation was calculated for quantitative variables like age, weight, serum creatinine levels and GFR. Qualitative variables like gender and asphyxia Sarnat stage was presented as frequency and percentage. Test of significance Independent sample t test was applied to compare between two groups. p -value ≤ 0.05 was considered significant.

Results

The mean age of cases in Theophylline group was 11.00 ± 8.55 hours and in control group the mean age of cases was 14.97 ± 8.35 hours.

In Theophylline group there were 17(56.67%) male and 13(43.33%) female cases while in control group there were 17(56.67%) male and 13(43.33%) female cases.

The mean gestational age at time of delivery in Theophylline group was 39.47 ± 1.31 weeks and in control group was 38.87 ± 1.41 weeks.

The mean birth weight in Theophylline group was 3188.29 ± 412.36 g and in control group was 3138.93 ± 395.23 g.

In Theophylline group there were 9(30%) neonates with Sarnat stage 2 and 12(40%) with stage 3 while in control group, 8(26.67%) had stage 2 and 15(50%) cases had stage 3.

The mean sodium levels in Theophylline group were 128.04 ± 1.64 and in control group was 135.47 ± 2.99 , with statistically lower mean sodium in Theophylline group, p -value < 0.05 .

The mean creatinine levels in Theophylline group was 0.78 ± 0.29 and in control group was 1.15 ± 0.51 with statistically lower mean level in Theophylline group, p -value < 0.05 .

The mean Glomerular filtration rate in Theophylline group was 31.59 ± 6.35 and in control group was 21.17 ± 7.38 with statistically higher mean Glomerular filtration rate in Theophylline group, p -value < 0.05 .

When data was stratified for birth weight and Sarnat staging, the mean Glomerular filtration rate in Theophylline group was statistically higher as compared to control group, p -value < 0.05 , with higher GFR in neonates with sarnat 2 staging than 3.

Table 1: Comparison of Glomerular filtration rates in both study groups

	Study groups	Mean	S.D	T-test	P-value
Glomerular filtration rate	Theophylline (n=30)	31.60	6.35	5.861	<0.001**
	Control (n=30)	21.18	7.38		

****Highly Significant**

Table 2: Comparison of Creatinine and Glomerular filtration rate in both Study groups with respect to birth weight

Birth weight (g)		Study groups	Mean	S.D	t-test	p-value
2500 - 3000	Creatinine	Theophylline	0.71	0.28	-2.692	0.014*
		Control	1.20	0.51		
	Glomerular filtration rate	Theophylline	31.95	6.70	3.917	0.001*
		Control	20.33	7.11		
3000 - 4000	Creatinine	Theophylline	0.82	0.30	-2.331	0.025*
		Control	1.13	0.52		
	Glomerular filtration rate	Theophylline	31.42	6.34	4.244	<0.001**
		Control	21.74	7.71		

****Highly Significant**

***Significant**

Table 3: Comparison of Creatinine and Glomerular filtration rate in both Study groups with respect to Sarnat Staging

Sarnat Staging	Study groups	Mean	S.D	t-test	p-value
----------------	--------------	------	-----	--------	---------

Stage 2	Creatinine	Theophylline	0.76	0.30	-.721	0.482
		Control	0.86	0.26		
Stage 3	Glomerular filtration rate	Theophylline	33.30	5.31	5.621	<0.001**
		Control	20.73	3.63		
	Creatinine	Theophylline	0.76	0.31	-2.381	0.025*
		Control	1.18	0.55		
	Glomerular filtration rate	Theophylline	30.82	7.58	2.957	0.007*
		Control	21.52	8.52		

**Highly Significant

*Significant

Discussion

Perinatal asphyxia is an essential reason for neonatal mortality and neurological morbidity (15). Asphyxia can lead to multi organ dysfunction and redistribution of cardiac output to maintain cerebral, cardiac, and adrenal perfusion while potentially compromising renal, gastrointestinal, and skin perfusion as circulatory response (16). During acute hypoxemia, adenosine levels increase as ATP hydrolysis exceeds synthesis resulting in intra-renal vasoconstriction, decreased renal perfusion, and drop of glomerular filtration rate (GFR)(12). Compared to older children, newborns are more susceptible to acute kidney injury because they have low glomerular filtration rate, high renal vascular resistance, high plasma renin activity and decreased reabsorption of sodium in the proximal tubules (16). Despite our understanding of the impact of AKI on clinical outcomes, there are no FDA approved therapies to prevent or mitigate AKI (12). In the kidney, adenosine constricts the afferent arteriole and decreases glomerular blood flow; adenosine receptor blockade mitigates this vasoconstriction (17). The natriuresis caused by methylxanthines is predominantly the result of inhibition of tubular salt transport. Natriuresis without hemodynamic changes was also caused by methylxanthines in premature infants and newborn rabbits (18).

Bhat MA et al(10) conducted a study to see whether prophylactic theophylline can reduce the incidence and/or severity of renal failure in infants with asphyxia. Creatinine clearance was higher and excretion of beta 2 microglobulin (β 2M) was lower in the theophylline group. In infants with renal failure, serum creatinine and creatinine clearance returned to normal in the neonatal period, and the increased β 2M excretion normalized by age 6 weeks. They concluded that A single dose of theophylline within the first hour of birth in neonates with perinatal asphyxia results in

a significant decrease in serum creatinine level and urinary excretion of β 2M, along with an increase in creatinine clearance(10).

In current study the mean creatinine levels in Theophylline group was 0.78 ± 0.29 and in control group was 1.15 ± 0.51 with statistically lower mean level in Theophylline group, p-value < 0.05. The mean Glomerular filtration rate in Theophylline group was 31.59 ± 6.35 and in control group was 21.17 ± 7.38 with statistically higher mean Glomerular filtration rate in Theophylline group, p-value < 0.05.

Jenik et al(21) designed a study to determine whether theophylline could ameliorate renal function in asphyx neonates. During the first day of life, the 24-hour fluid balance was significantly more positive in the infants receiving placebo compared with the infants receiving theophylline. Severe renal dysfunction was present in 4 of 24 (17%) infants of the theophylline group and in 15 of 27 (55%) infants of the control group (relative risk: .30; 95% confidence interval: .12-.78). Mean endogenous creatinine clearance of the theophylline group was significantly increased compared with the creatinine clearance in infants receiving placebo (21.84 ± 7.96 vs 6.42 ± 4.16). The GFR (estimated by Schwartz's formula) was markedly decreased in the placebo group. Urinary β 2M concentrations were significantly reduced in the theophylline group (5.01 ± 2.3 mg/L vs 11.5 ± 7.1 mg/L). Moreover, 9 (33%) patients of the theophylline group versus 20 (63%) infants of the control group had urinary β 2M above the normal limit (<.018). . Except for renal involvement, a similar frequency of multiorgan dysfunction, including neurologic impairment, was observed in both groups. These findings are similar to our study.

In a similar study done in Iran, on the 1st day, the 24-hour fluid balance was more positive in infants receiving placebo compared to infants receiving theophylline. Over the next few days, the change in

fluid balance favoured the theophylline group. Significantly higher serum creatinine values were recorded in the placebo group on the 3rd day. Severe kidney dysfunction was present in 2 infants of the theophylline group (11.7%) and in 8 (42.1%) of the controls. The glomerular filtration rate was markedly increased in the theophylline group(9). Bakr(8) et al demonstrated that incidence of severe renal dysfunction was significantly higher in the control group. Serum creatinine values were less, and creatinine clearance and GFR were significantly higher in the theophylline group from the second day onwards.

Wassia et al³ conducted meta-analysis involving 197 infants from four RCTs. Compared with placebo, prophylactic theophylline was associated with a significant reduction in the incidence of severe renal dysfunction (pooled relative risk) using fixed-effects model was 0.38 (95% confidence interval, 0.25 to 0.57; $P < 0.001$)(3).

Alok Raina et al. showed that neonates in the theophylline group had lower serum creatinine levels (0.83 ± 0.35 versus 1.47 ± 0.61 ; $p = 0.00$) and higher endogenous creatinine clearance or GFR (32.16 ± 16.34 versus 17.73 ± 7.92 ; $p = 0.00$) than the placebo group. Severe renal dysfunction, namely acute kidney injury, was present in 36 (15%) of the neonates in the theophylline group versus 117 (48%) in the placebo group ($p < 0.01$)(2).

K Seo et al showed that aminophylline improved renal function and indices of renal inflammation.²² Deirdre et al showed that prophylactic theophylline, given early after birth (within 1 h), has beneficial effects on reducing renal dysfunction in asphyxiated full-term infants.²³

A study by David Askenazi showed that treating perinatal asphyxia with theophylline at birth helps to reduce the severity of renal dysfunction in term neonates.¹² Kiran P. Sathe showed that methylxanthines when used in hypoxic neonates seem to prevent oliguric renal failure.²⁴

Another study supported that a single dose of prophylactic theophylline helps in prevention of AKI/severe renal dysfunction in term neonates with severe birth asphyxia (moderate quality evidence) without increasing the risk of complications and without affecting all-cause mortality (very low-quality evidence).¹¹ Furthermore, Kidney Disease Improving Global Outcomes 2012 (KDIGO) guidelines suggest that a single dose of theophylline may be given in neonates with severe perinatal asphyxia, who are at high risk of AKI.¹⁴

Conclusion

Through the findings of this study, therapeutic efficacy of theophylline is confirmed in term of maintaining serum creatinine and glomerular filtration rate. So, in future renal function can be secured by introducing theophylline and by maintaining renal function we can reduce risk of mortality.

References

1. Allen KA, Brandon DH. Hypoxic ischemic encephalopathy: pathophysiology and experimental treatments. *Newborn and Infant Nursing Reviews*. 2011 Sep 1;11(3):125-33.
2. Raina A, Pandita A, Harish R, Yachha M, Jamwal A. Treating perinatal asphyxia with theophylline at birth helps to reduce the severity of renal dysfunction in term neonates. *Acta Paediatrica*. 2016 Oct;105(10):e448-51
3. Al-Wassia H, Alshaikh B, Sauve R. Prophylactic theophylline for the prevention of severe renal dysfunction in term and post-term neonates with perinatal asphyxia: a systematic review and meta-analysis of randomized controlled trials. *Journal of Perinatology*. 2013 Apr;33(4):271-7.
4. Durkan AM, Alexander RT. Acute kidney injury post neonatal asphyxia. *The Journal of pediatrics*. 2011 Feb 1;158(2):e29-33.
5. Ahmed I, Arshad U, Saleem F, Tabassum S, Sabir A. ASPHYXIA NEONATORUM; RENAL DERANGEMENT IN NEONATES WITH ASPHYXIA NEONATORUM. *Professional Medical Journal*. 2018 Aug 1;25(8).
6. Hadzimuratovic E, Skokic F, Hadzimuratovic A, Nazdrajic AH, Mujic M, Hadzimuratovic A. Acute renal failure in term newborn following perinatal asphyxia. *SANAMED*. 2017 Apr 4;12(1):11-4.
7. Aurora S, Snyder E. Perinatal asphyxia. *Manual of neonatal care: Lippincott, Williams & Wilkins, New York*; 2004. p. 536-55.
8. Bakr AF. Prophylactic theophylline to prevent renal dysfunction in newborns exposed to perinatal asphyxia—a study in a developing country. *Pediatric Nephrology*. 2005 Sep 1;20(9):1249-52.
9. Eslami Z, Shajari A, KHEYR AM, HEYDARI A. Theophylline for prevention of kidney dysfunction in neonates with severe asphyxia(2009):222-226.
10. Bhat MA, Shah ZA, Makhdoomi MS, Mufti MH. Theophylline for renal function in term neonates with perinatal asphyxia: a randomized, placebo-controlled trial. *The Journal of pediatrics*. 2006 Aug 1;149(2):180-4.
11. Bhatt GC, Gogia P, Bitzan M, Das RR. Theophylline and aminophylline for prevention of acute kidney injury in neonates and children: a systematic review. *Archives of disease in childhood*. 2019 Jul 1;104(7):670-9
12. Askenazi D. Should neonates with perinatal asphyxia receive a single dose of IV Theophylline to prevent acute kidney injury. *Acta paediatrica (Oslo, Norway: 1992)*. 2016 Oct;105(10):1125.
13. Youssef D, M Al Shafie M, S Abdul-Shafy M. Role of Theophylline on Renal Dysfunction of Asphyxiated Neonates. *Ann Clin Lab Res*. 2018;6(3):245.
14. Khwaja A. KDIGO clinical practice guidelines for acute kidney injury. *Nephron Clinical Practice*. 2012;120(4):c179-84
15. Reddy BS, Reddy UN, Nagasravani J, Mohiuddin MN. Incidence of Acute Renal Failure in Birth Asphyxia and its

Correlation with Hypoxic Ischemic Encephalopathy (HIE). International Journal of Medical Research & Health Sciences. 2017;6(4):80-91.

16. Medani SA, Kheir AE, Mohamed MB. Acute kidney injury in asphyxiated neonates admitted to a tertiary neonatal unit in Sudan. Sudanese Journal of Paediatrics. 2014;14(2):29.

17. Axelrod DM, Sutherland SM, Anglemeyer A, Grimm PC, Roth SJ. A double-blinded, randomized, placebo-controlled clinical trial of aminophylline to prevent acute kidney injury in children following congenital heart surgery with cardiopulmonary bypass. Pediatric critical care medicine: a journal of the Society of Critical Care Medicine and the World Federation of Pediatric Intensive and Critical Care Societies. 2016 Feb;17(2):135.

18. Osswald H, Schnermann J. Methylxanthines and the kidney. In: Methylxanthines 2011 (pp. 391-412). Springer, Berlin, Heidelberg.

19. Bellos I, Pandita A, Yachha M. Effectiveness of theophylline administration in neonates with perinatal asphyxia: a meta-analysis. The Journal of Maternal-Fetal & Neonatal Medicine. 2019 Oct 7:1-9.

20. Simiyu IN, Mchaile DN, Katsonger K, Philemon RN, Msuya SE. Prevalence, severity and early outcomes of hypoxic ischemic encephalopathy among newborns at a tertiary hospital, in northern Tanzania. BMC pediatrics. 2017 Dec 1;17(1):131.

21. Jenik AG, Cernadas JMC, Gorenstein A, Ramirez JA, Vain N, Armadans M, et al. A randomized, double-blind, placebo-controlled trial of the effects of prophylactic theophylline on renal function in term neonates with perinatal asphyxia. Pediatrics. 2000;105(4):e45-e.

22. Seo K, Choi J, Kim D-W, Han D, Noh S, Jung H, editors. Aminophylline Effect on Renal Ischemia-Reperfusion Injury in Mice. Transplantation proceedings; 2017: Elsevier.

23. Sweetman DU, Riordan M, Molloy EJ. Management of renal dysfunction following term perinatal hypoxia-ischaemia. Acta Paediatrica. 2013;102(3):233-41.

24. Sathe KP, Kulkarni A. Role of methylxanthines in preventing acute renal failure in hypoxic newborns. Apollo Medicine. 2015;12(4):234-8